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Sum>80

Writeln('mAnB8oc¢:’,plithos)

Writeln("aBpotopa:’,sum)
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B2.
Plithos:=0;
Sum:=0;
X:=-100;
Repeat
ReadIn(y);
plithos:=plithos+1;
Sum:=sum-+y;
x:=X div 2;
until x<=5
if sum>80 then
writeln (‘mAnBoc=’,plithos)
else

writeln(‘aBpolopa=",sum);

OEMAT
ReadIn(cc);

ReadIn(age);

If cc<=1000
Then
timi:=150
Else
If cc<2000
Then
timi:=200

Else
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timi:=300;
If age<=23
Then
timi:=timi+40;
Tel_timi:=timi+timi * 0.23;

Writeln (Tel_timi);

OEMA A
Program thema_4;
var pl,sum,max,plithos,plithow_aponton:integer;
var nomos,max_nomos:string;
begin
pl:=0;
sum:0;
max:=-100;
Fori:=1to 143 do
begin
readln (nomos);
readln (plithos);
read (plithos_aponton);
if plithos > max
then
begin
max := plithos;
max_nomos:=nomos;

end;
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sum:=sum+plithos;
if plithos_aponton =0
then
pl:=pl+1;
end;
writeln (max_nomos);
writeln (sum);
writeln (pl);

end.
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